Potencias de 10 (B)

Calcule los siguientes productos y cocientes.

5.5212 x 10

1.7872 +10

9.6255 x 10

3.9358 x 10

4.9501 x 10

7.8496 =10

8.4004 =10

8.716 10

5.8507 x 10

8.473 x 10

5.526 x 10

7.5066 =10

3.2757+10

4.7596 x 10

1.6142 =10

7.7587 x 10

4.6343 =10

1.4908 x 10

5.9629 =10

4.0498 + 10
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Potencias de 10 (B) Respuestas

Calcule los siguientes productos y cocientes.

5.5212 % 10
55.212
1.7872 +10
0.17872
9.6255 x 10
96.255
3.9358 x 10
39.358
4.9501 x 10
49.501
7.8496 + 10
0.78496
8.4004 =10
0.84004
8.716 - 10
0.8716
5.8507 x 10
58.507
8.473 x 10
84.73

5.526 x 10
55.26
7.5066 =10
0.75066
3.2757+10
0.32757
4.7596 x 10
47.596
1.6142 =10
0.16142
7.7587 x 10
77.587
4.6343 +-10
0.46343
1.4908 x 10
14.908
5.9629 =10
0.59629
4.0498 - 10
0.40498
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